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®) (a2 +o- 2) oRBto—fHi

Tt (z%)P - 27 - (_l)r

plglr! T
7! 1
- plglr! (=2)" -2 -2t

| N
T (o) g (2L paqar=T -

= Sl
E I
2p+q—r=0---©
DEXTHAb.
©, @&y
(P, ¢, 1) =(1, 2, 4)
LoT, EHUHIL

7!

112141 (-2)* = 1680
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B (n—1)! (n—1)!
nflcr‘i’nflcrfl - r!(n—l—r)! + (r—l)'{(n—l)—(?‘—l)}'
(n—1)! (n—1)!

rl(n—1-—7)! + (r—1!(n—r)!

__ (n=1) n—r (n—1)! r
S orlln—1-1)! A (r—1D(n—r)! a
_ (n—=1)ln—-r) (n—1)lr

rl(n —r)! ri(n —r)!
e R (CEORS!

n—1)!
= rE(ni—z)' XN
- 7’!(nni r)! =nCr

(FEHA#)

(2) “HEER LY

Ths.
OQllz=12KATHL

(1+1)n:nco+ncl><1+n02><12++nCr><1T++nCnX1n

(RERIH)

3) Dla=—1%fAT2E

(1—1)"=,Co+,C1 x (=1) + ,Co x (=1)? 4 -+ ,Cp x (=1)"

O:nCO*nCI+nC2++(*1)nnCn

(RERIH)
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(4) “HEH LY

(1 4 I)Qn — QnCO . 1211 4 2ncl . 12n71 cx 4 QnCQ . 121172 . IQ
+"'+2nc2n _x2n
= 2,Co + 2,C1 - T + 2,Co - 2> + -+ + 2,Cay - 2"

hlz=12AT5L

(14+1)?" = 9,Co +2,C1 - 1 +2,C2 - 12 4 - 4 5,Cy,, - 177
22" = 9,Co + 20.C1 + 2,.Co + -+ - + 2,.Cap -+ @

r=—-1%KAT5HE&

(1=1)*" = 24Co + 24C1 - (—1) + 2:C2 - (—1)* 4 -+ + 24Cap - (-1)*"
0=12,Co—2,C1 +2,C2 — -+ 2,Cap, -+~ ®

@+® &0
2(22Co + 2,C2 + - + 2,Cay) = 2%
2n
2nCo + 2nC2 + - - + 2,Cop = 27

2nCo + 2,02 + - - - + 2,Cap, = 22771

(REMI#E)
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AN

(1] (1) (a — 2b)7
=7Coa” + 7C1a°%(=2b) + +Caa’ (—2b)?
+ 7C3a* (—2b)* + 7C4a®(—2b)* + 7C5a®(—2b)°
+ 7Cea(—2b)° + 7C7(—2b)7
=a” — 14a%b + 84a°b? — 280a*b® + 560a3b* — 672a2b°
+448ab® — 12867

T T
28T 1T =275
T
2872 — 2
8—2r=2
—2r =—-6
r=23

X oT, 2?2 ORI
§C3 - (—3)° = —1512

(2] (1+a+a?)? DREFRO—HIHEIZ

9' 2\r __ 9' +2r - 3 _
W-l”-aq~(a) —W-aq (f\_f\_L,pﬁLquT—Q)
a9t =qa* X0
g+2r=4---Q©
22T, ptqg+r=9 ---@ 75,
® ®@xy
(pv q, T) = (57 47 0)7 (65 25 1)5 (77 07 2)
Y oT, ot ORI
9! 9! 9!

siaT T Glar T oqor A4

(3] (1) —mEH LY
(14+a)"=,Co-1"+,C1- 1" a+,Co-1"2- 0%+ +,Cp - a”

Thh LD
1+a)"=1+,C1-a+,Co-a*+---+a"
-1
:1+na+n(nT)a2+---+an

22T, ARog 3EMEEIENEFNIELRDT
(I+a)">14+na

(REHIH)
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@2) () IEBVT, a= % Lyl

(1+i) S14n-Lo141=9
n n

(1+i)n>2
n

(REMI#E)

[4] 21?2 = (20+ 1)*!
=91C0 - 207 + 9101 - 2020 - 1 4 91Co - 201 - 12 - -+ 4 9,Cyg - 207 - 119
4 21C20 - 20 - 120 4 5;Coy - 12!
=20%" + 2,01 - 2020 4 91C - 20" + -+ + 91C1g - 20% 4 91Co0 - 20 + 1
= 20%(20" + 51C1 - 20™8 4 5,0y - 2017 4 - 4+ 9,Cyg) + 421
= 400(20" + 2,C; - 20" + 91C5 - 20" 4 -+ - 4 5:C19 + 1) + 21
2T, () WIZEEEZZ S, 400(20% + 51Cy - 201 + 51C2 - 2017 + -+ +21:C19 + 1)
1$ 400 TEID YIS,

Lo, 2121 % 400 THI- 72430 1%
21
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